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1. Show that every positive even integer is of the form 2q
and every positive odd integer is of the form 2q +1 for

some integer g.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_udainZawS8yb

2. By using Euclid's algorithm, find the largest number

which divides 650 and 1170.

o Watch Video Solution

3. Consider the numbers 4", where n is a natural number.
Check whether there is any value of n for which 4" ends

with the digit zero.

° Watch Video Solution

4. Write the prime factorisation of the number 27300. In
the factorisation find (i) the total number of primes and

(i) the total number of distinct primes.


https://dl.doubtnut.com/l/_OPKheVFM0N9p
https://dl.doubtnut.com/l/_7JRKfqNQXBJH
https://dl.doubtnut.com/l/_S18gGKk4SKu6

o Watch Video Solution

5. Find the L.C.M. and H.CF. of 9,117 and 729 by the prime

factorisation method.

o Watch Video Solution

6. Find the H.C.F. of (8,648) by prime factorisation and

hence find the L.C.M.

° Watch Video Solution

7.Show that +/7 is irrational.

| & S |


https://dl.doubtnut.com/l/_S18gGKk4SKu6
https://dl.doubtnut.com/l/_YsGhqIlOIfa3
https://dl.doubtnut.com/l/_o08wraRFRWCO
https://dl.doubtnut.com/l/_ULySbaQUv8fm

[ W Watch Video Solution ]

8. Without actually performing the long division, state
whether the following rational numbers will have a
terminating decimal expansion or a nonterminating

repeating decimal expansion.

31
625

o Watch Video Solution

9. Write 0.737373... p in the simplest form and write the
q

prime factors of g

o Watch Video Solution



https://dl.doubtnut.com/l/_ULySbaQUv8fm
https://dl.doubtnut.com/l/_2bfpUPdHQ2kF
https://dl.doubtnut.com/l/_b9UtEkv3CvGj
https://dl.doubtnut.com/l/_9DsGWXWignMg

10. Express 0.156 as a fraction in simplest form.

° Watch Video Solution

11. Find the H.C.F. and L.C.M. of 30, 72 and 432 using the

prime factorisation method.

o Watch Video Solution

12. Using Euclid's division algorithm, find H.C.F. of 274170

and 17017.

o Watch Video Solution



https://dl.doubtnut.com/l/_9DsGWXWignMg
https://dl.doubtnut.com/l/_G6hVBIc7kTS0
https://dl.doubtnut.com/l/_xkQ7lFPJa0I3
https://dl.doubtnut.com/l/_HCXwuORnBMe8

13. In the following equations, find which variables x, vy, z

etc. represent rational or irrational numbers. 2z = 5

O Watch Video Solution

14. In the following equations, find which variables x, y, z

etc. represent rational or irrational numbers. y* = 9

o Watch Video Solution

15. In the following equations, find which variables x, y, z

etc. represent rational or irrational numbers. 22 = 0.04

o Watch Video Solution



https://dl.doubtnut.com/l/_HCXwuORnBMe8
https://dl.doubtnut.com/l/_rl0Zk0WS4RRS
https://dl.doubtnut.com/l/_uWek6pJbHmrV
https://dl.doubtnut.com/l/_Vcx2pv3k8lAG

16. In the following equations, find which variables u ,v ,w

etc. represent rational or irrational numbers. u® = 17 /4

° Watch Video Solution

17.In the following equations, find which variables u ,v ,w

etc. represent rational or irrational numbers. v> = 3

° Watch Video Solution

18. In the following equations, find which variables u ,v ,w

etc. represent rational or irrational numbers. w® = 27

o Watch Video Solution



https://dl.doubtnut.com/l/_Vcx2pv3k8lAG
https://dl.doubtnut.com/l/_U1KVwcYVmObH
https://dl.doubtnut.com/l/_kDiCD8M3fpaZ

19. In the following equations, find which variables x, y, z

etc. represent rational or irrational numbers. t2 =0.4

o Watch Video Solution

20. Give examples of two irrational numbers the product

of which is: a rational number (ii) an irrational number

o Watch Video Solution

21. Give examples of two irrational numbers the product

of which is: a rational number (ii) an irrational number

o Watch Video Solution



https://dl.doubtnut.com/l/_cAuue0D5ULzo
https://dl.doubtnut.com/l/_JzraqZaErGAr
https://dl.doubtnut.com/l/_OKh8IwKD6AL4

22. Give examples of two irrational numbers, whose

quotient is a rational number

o Watch Video Solution

23. Give examples of two irrational numbers, whose

quotient is an irrational number

o Watch Video Solution

24. Prove that if zandy are odd positive integers, then

z2 + y% is even but not divisible by 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_pV0rvdEGAYyc
https://dl.doubtnut.com/l/_lW6rjlRqqiyk
https://dl.doubtnut.com/l/_M2WDyTyIopJn

25. Express 0.36 as a fraction in simplest form.

o Watch Video Solution

26. Let a, b, ¢, d be positive rationals such that
a + /b = c+ +1/d, then eithera=cand b=d or b and d

are squares of rationals.

o Watch Video Solution

27.Show that one and only one out of n,n +3,n + 6 orn

+ 9 is divisible by 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_7ezHCuPO00x1
https://dl.doubtnut.com/l/_RIrx7y35tm0N
https://dl.doubtnut.com/l/_dQtL1YNEspA0

28. By using division algorithm, find the largest number
which when divides 969 and 2059, the remainders

obtained are 9 and 11 respectively.

° Watch Video Solution

29. Show that one and only one out of n,n +2,n + 4 is

divisible by 3, where n is any positive integer.

° Watch Video Solution

30. For any positive real number x , prove that there

exists an irrational number y such that 0

[ n Watch Video Solution ]


https://dl.doubtnut.com/l/_z6g8zDcmigBV
https://dl.doubtnut.com/l/_Zy76rMrMpSfr
https://dl.doubtnut.com/l/_UNchLeQGWHC1

1
31. Prove that — is irrational.
V3

o Watch Video Solution

32. Find the HCF of 81 and 237 and express it as a linear

combination of 81 and 237.

° Watch Video Solution

33. If the HCF of 56 and 72 is m then find z and y such

that m = 56x + 72y

o Watch Video Solution



https://dl.doubtnut.com/l/_UNchLeQGWHC1
https://dl.doubtnut.com/l/_WFiiZRAVrpiW
https://dl.doubtnut.com/l/_vCsV4MPCuJ9c
https://dl.doubtnut.com/l/_YNQoNdHNZ1QO
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34. Express the surd with rational denominator.

/6

o Watch Video Solution

35. Show that there is no positive integer n for which

vn—1+ +/n + lisrational.

o Watch Video Solution

36. Prove that \/ﬁ is not a rational number. if n is not a

perfect square.

° Watch Video Solution



https://dl.doubtnut.com/l/_YNQoNdHNZ1QO
https://dl.doubtnut.com/l/_5XR1Xt68hsM7
https://dl.doubtnut.com/l/_dT1jUXpSgx6Y
https://dl.doubtnut.com/l/_fco90poDMJXp

37.Let a and b be positive integers. Show that /2 always

) a a+ 2b
lies between and — and

b a+b’

o Watch Video Solution

38. For any positive integer n , prove that n’ —n

divisible by 6.

o Watch Video Solution

39. Find the H.C.F. and L.C.M. of 38 and 10

o Watch Video Solution



https://dl.doubtnut.com/l/_fco90poDMJXp
https://dl.doubtnut.com/l/_v1AjEOYQrJgh
https://dl.doubtnut.com/l/_ymTOhNUC93zr
https://dl.doubtnut.com/l/_OGqSNb17FJ08

Ncert Section Exercise 11

1. Use Euclid's division algorithm to find the HCF of (i) 135

and 225 (ii) 196 and 38220 (iii) 867 and 255

° Watch Video Solution

2. Use Euclid's division algorithm to find the H.C.F. of 196

and 38220

° Watch Video Solution

3. Use Euclid's division algorithm to find the H.C.F. of 867

and 255


https://dl.doubtnut.com/l/_VcJJH8M1lErX
https://dl.doubtnut.com/l/_ikmkhMWA1Uis
https://dl.doubtnut.com/l/_MzwGwoaun1AR

o Watch Video Solution

4. Show that any positive odd integer is of the form

6g + 1 or 6g + 3 or 6g + 5, where q is some integer.

o Watch Video Solution

5. An army contingent of 616 members is to march
behind an army band of 32 members in a parade. The
two groups are to march in the same number of
columns. What is the maximum number of columns in

which they can march ?

o Watch Video Solution



https://dl.doubtnut.com/l/_MzwGwoaun1AR
https://dl.doubtnut.com/l/_ebsL0082u1eQ
https://dl.doubtnut.com/l/_UvV5VLR0VcUM

6. Use Euclid's division lemma to show that the square of
any positive integer is either of the form 3m or 3m + 1

for some integer m.

o Watch Video Solution

7. Use Euclid's division lemma to show that the cube of

any positive integer is of the form 9m, 9m + lor 9m + 8

° Watch Video Solution

Ncert Section Exercise 12



https://dl.doubtnut.com/l/_sS4nl7KubZN7
https://dl.doubtnut.com/l/_73VwIzq9YZ7Q
https://dl.doubtnut.com/l/_FKYz2IBEugjw

1. Express each number as a product of its prime factors:

140

° Watch Video Solution

2. Express each number as a product of its prime factors:

156

° Watch Video Solution

3. Express each number as a product of its prime factors:

3825

o Watch Video Solution



https://dl.doubtnut.com/l/_FKYz2IBEugjw
https://dl.doubtnut.com/l/_1ZOqTpLVjSIo
https://dl.doubtnut.com/l/_kgzbvXeFDBuw
https://dl.doubtnut.com/l/_has7a3cv9mbH

4. Express each number as a product of its prime factors:

5005

o Watch Video Solution

5. Express each number as a product of its prime factors:

7429

° Watch Video Solution

6. Find the LCM. and H.C.F. of the following pairs of

integers and verify that L. C. M x H. C. F=product of

the two numbers 26 and 91

I o Watch Video Solution


https://dl.doubtnut.com/l/_has7a3cv9mbH
https://dl.doubtnut.com/l/_P5B7nVORjXvm
https://dl.doubtnut.com/l/_HhGarbwdF32Q

7. Find the LCM. and H.CF. of the following pairs of

integers and verify that L. C. M x H. C. F = product of

the two numbers. 51 and 18

° Watch Video Solution

8. Find the LCM and HCF of the following pairs of
integers and verify that LLCM x HCF = product of
the two numbers.(i) 26 and91 (ii) 510 and 92 (iii) 336 and

54

o Watch Video Solution



https://dl.doubtnut.com/l/_HhGarbwdF32Q
https://dl.doubtnut.com/l/_eaac4lZCS3Ic
https://dl.doubtnut.com/l/_IPSr5h3MEXHU
https://dl.doubtnut.com/l/_LjWqMCutjeI4

9. Find the LCM and HCF of the following integers by
applying the prime factorisation method. (i) 12,15 and 21

(ii) 17, 23 and 29 (iii) 8,9 and 25

o Watch Video Solution

10. Find the LCM and HCF of the following integers by
applying the prime factorisation method. (i) 12,15 and 21

(i1) 17,23 and 29 (iii) 8,9 and 25

° Watch Video Solution

1. Find the LCM and HCF of the following integers by

applying the prime factorisation method. (i) 12,15 and 21


https://dl.doubtnut.com/l/_LjWqMCutjeI4
https://dl.doubtnut.com/l/_tZjvTfyOVsdS
https://dl.doubtnut.com/l/_2gkXNcyKaAlO

(i1) 17,23 and 29 (iii) 8,9 and 25

° Watch Video Solution

12. Given that HCF (306, 657) = 9, find LCM (306, 657).

o Watch Video Solution

13. Check whether 6" can end with the digit O for any

natural number n .

° Watch Video Solution



https://dl.doubtnut.com/l/_2gkXNcyKaAlO
https://dl.doubtnut.com/l/_tInE5U1ga5qH
https://dl.doubtnut.com/l/_ntLmJj4OyVIV

14. Explain why 7x 11 x 13 and

7TX6x5x4x3x2x1+ bare composite numbers.

o Watch Video Solution

15. There is a circular path around a sports field. Soma
takes 18 minutes to drive one round of the field, while
Ravi takes 12 minutes for the same. Suppose they both
start at the same point and at the same time, and go in

the same direction. Afte

o Watch Video Solution

Ncert Section Exercise 13


https://dl.doubtnut.com/l/_sewyZVQxWSin
https://dl.doubtnut.com/l/_CsV8ekukUgks

1. Prove that /5 is an irrational number and hence show

that 3 + /5 is also an irrational number.

o Watch Video Solution

2. Prove that 3 + 2,/5 is irrational.

° Watch Video Solution

3. Prove that the following are irrationals : (i) — (ii)

7+/5 (iii) 6 4 /2

° Watch Video Solution



https://dl.doubtnut.com/l/_T8HWAYjothNb
https://dl.doubtnut.com/l/_WuRNLxmwdRlq
https://dl.doubtnut.com/l/_v3xAAXhnpd0x

Ncert Section Exercise 14

1. Without actually performing the long division, state

whether the following rational numbers will have

terminating decimal expansion or a non-terminating

repeating decimal expansion. Also, find the number of

places of decimals after which the decimal expansion
15 13 23

terminates. 600 (i) 3105 (iii) ﬁ

o Watch Video Solution

2. Without actually performing the long division, state

whether the following rational numbers will have a


https://dl.doubtnut.com/l/_6yBBmNtxdnjo
https://dl.doubtnut.com/l/_vgW0HMpXs5VQ

terminating decimal expansion or a nonterminating

repeating decimal expansion: 71 /8

o Watch Video Solution

3. Without actually performing the long division, state
whether the following rational numbers will have a
terminating decimal expansion or a nonterminating

repeating decimal expansion: 64 /455

° Watch Video Solution

4. Without actually performing the long division, state

whether the following rational numbers will have a


https://dl.doubtnut.com/l/_vgW0HMpXs5VQ
https://dl.doubtnut.com/l/_O7zwEXDWKS6u
https://dl.doubtnut.com/l/_gV60J0k7WkbC

terminating decimal expansion or a nonterminating

repeating decimal expansion: 15 /1600

o Watch Video Solution

5. Without actually performing the long division, state
whether the following rational numbers will have a
terminating decimal expansion or a nonterminating

repeating decimal expansion: 29 /343

° Watch Video Solution

6. Without actually performing the long division, state

whether the following rational numbers will have a


https://dl.doubtnut.com/l/_gV60J0k7WkbC
https://dl.doubtnut.com/l/_OVC2l7jIcvrY
https://dl.doubtnut.com/l/_yWcN7McEl06e

terminating decimal expansion or a nonterminating
23
2°5?

repeating decimal expansion:

° Watch Video Solution

7. Without actually performing the long division, state
whether the following rational numbers will have a

terminating decimal expansion or a nonterminating
129
225775

repeating decimal expansion:

o Watch Video Solution

8. Without actually performing the long division, state

whether the following rational numbers will have a


https://dl.doubtnut.com/l/_yWcN7McEl06e
https://dl.doubtnut.com/l/_rMbe2trTyNLB
https://dl.doubtnut.com/l/_Zxkzo434TviV

terminating decimal expansion or a nonterminating

repeating decimal expansion: 6 /15

o Watch Video Solution

9. Without actually performing the long division, state
whether the following rational numbers will have

terminating decimal expansion or a non-terminating

tine decimal , 23 (i) 125 (i) 35
repeating decimal expansion. —- (i) - (iii) =

° Watch Video Solution

10. Without actually performing the long division, state

whether the following rational numbers will have


https://dl.doubtnut.com/l/_Zxkzo434TviV
https://dl.doubtnut.com/l/_HN2LUZeZSXLP
https://dl.doubtnut.com/l/_3ItHlLc8U6L0

terminating decimal expansion or a non-terminating
129

22 x 57 x 77

repeating decimal expansion 77 (iii)
P & P - 210

o Watch Video Solution

11. Write down the decimal expansions of those rational
numbers in Question 1 above which have terminating

decimal expansions.

° Watch Video Solution

12. The following real numbers have decimal expansions
as given below. In each case, decide whether they are

rational or not. If they are rational, and of the form 2,
q


https://dl.doubtnut.com/l/_3ItHlLc8U6L0
https://dl.doubtnut.com/l/_goslNaKkOC2C
https://dl.doubtnut.com/l/_Pp5dETWd9O8W

what can you say about the prime factors of g? (i)

43. 123456789 (ii) '0.1201

° Watch Video Solution

13. The following real numbers have decimal expansions
as given below. In each case, decide whether they are
rational or not. If they are rational, and of the form £,

q

what can you say about the prime factors of q? (i)

43. 123456789 (ii) 0. 1201

° Watch Video Solution



https://dl.doubtnut.com/l/_Pp5dETWd9O8W
https://dl.doubtnut.com/l/_cDgco458Z61y

14. The following real numbers have decimal expansions
as given below. In each case, decide whether they are
rational or not. If they are rational, and of the form g,

q

what can you say about the prime factors of q? (i)

43. 123456789 (ii) '0. 1201

o Watch Video Solution

Exercise Multiple Choice Questions Level 1

1. When 2%°% is divided by 17, the remainder would be 1

(b) 14 (c) 16 (d) None of these

Al


https://dl.doubtnut.com/l/_5Tfwhl2E2fTQ
https://dl.doubtnut.com/l/_wr6egXTFtnPD

B. 16

C.14

D. none of these

Answer:

° Watch Video Solution

2.1f N is the sum of first 13986 prime numbers, then N is

always divisible by

A.6

B.4

C.8


https://dl.doubtnut.com/l/_wr6egXTFtnPD
https://dl.doubtnut.com/l/_9FSqP2ggP7NM

D. none of these

Answer:

° Watch Video Solution

3. The rational number of the form p/q, ¢ # 0, p and q
are positive integers, which represents 0.134 ie,

(01343434..) is

134
999

134
990

133
999

133

D.@


https://dl.doubtnut.com/l/_9FSqP2ggP7NM
https://dl.doubtnut.com/l/_9HMCQqZFRnrL

Answer:

° Watch Video Solution

4. The least number which is a perfect square and is

divisible by each of 16,20 and 24 is

A. 240

B. 1600

C. 2400

D. 3600

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_9HMCQqZFRnrL
https://dl.doubtnut.com/l/_pkuk5UmddS6u

5.1f n is an even natural number, then the largest natural

number by which n(n + 1)(n + 2) is divisible, is

A.6

B.8

C.12

D. 24

Answer:

O Watch Video Solution



https://dl.doubtnut.com/l/_pkuk5UmddS6u
https://dl.doubtnut.com/l/_KN5EqvIQ8ayA

6. Find the least number which when divided by 15,
leaves a remainder of 5, when divided by 25, leaves a
remainder of 15 and when divided by 35 leaves a
remainder of 25.

A. 515

B. 525

C. 1040

D. 1050

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_0atC1XpumyMq

7.f(—1)" 4+ (—1)" = 0thennis

A. any positive integer
B. any negative integer
C. any odd natural number

D. any even natural number

Answer:

o Watch Video Solution

8. The number 3! — 3% is divisible by

A.2 and 3 only


https://dl.doubtnut.com/l/_FJmAAryXWgV6
https://dl.doubtnut.com/l/_GvsfhQRQc3zn

B.3 and 10 only

C.2,3and 10

D.2,3 and 13

Answer:

° Watch Video Solution

9. A number lies between 300 and 400. If the number is
added to the number formed by reversing the digits, the
sum is 888 and if then unit's digit and the ten's digit
change places, the new number exceeds the original

number by 9. Find the number.

A. 339


https://dl.doubtnut.com/l/_GvsfhQRQc3zn
https://dl.doubtnut.com/l/_LoDU83aVjIdG

B. 341

C.378

D. 345

Answer:

o Watch Video Solution

10. The H.C.F. of 280 and 674 is

A2

B.4

C.14

D. 28


https://dl.doubtnut.com/l/_LoDU83aVjIdG
https://dl.doubtnut.com/l/_zBLPWHi4WZXu

Answer:

o Watch Video Solution

1. Find the value of x and state which of the given
statement is/are required for it.
l. The L.C.M. of x and 18 is 36.
Il. The H.C.F. of x and 18 is 2.
A. 1, only statement-l is required
B. 2, only statement-ll is required

C. 4, statement-l and Il both are required

D. none of these


https://dl.doubtnut.com/l/_zBLPWHi4WZXu
https://dl.doubtnut.com/l/_MdE4Uby7JF95

Answer:

° Watch Video Solution

12.If H.C.F. (a,b) =12 and a x b = 1800, then L.C.M. (a,b)=

A. 3600
B. 900
C.150

D. 90

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_MdE4Uby7JF95
https://dl.doubtnut.com/l/_c5Q7NZebQHlq
https://dl.doubtnut.com/l/_QsL5C3p3LL7N

13. Which of the following rational numbers have non-

terminating repeating decimal expansion?

A.31/3125
B.71/512
C.23/200

D. none of these

Answer:

° Watch Video Solution

14. A rational number p/q has a terminating decimal

expansion if prime factorization of q have


https://dl.doubtnut.com/l/_QsL5C3p3LL7N
https://dl.doubtnut.com/l/_xIHmk4QBn30F

A.3 only

B. 2 only

C.5only

D. both (b) and (c)

Answer:

o Watch Video Solution

15.2. 27 is

A. an integer

B. a rational number

C. an irrational number


https://dl.doubtnut.com/l/_xIHmk4QBn30F
https://dl.doubtnut.com/l/_rXCnWTBUjRSV

D. None of these

Answer:

° Watch Video Solution

16. If n is a natural number, then 92" — 42" s always
divisible by 5 (b) 13 (c) both 5 and 13 (d) none of these

A 11

B.4

C.5

D.9

Answer:


https://dl.doubtnut.com/l/_rXCnWTBUjRSV
https://dl.doubtnut.com/l/_Z3xrmlyFncUw

o Watch Video Solution

17.If n is any natural number, then 9" — 5" ends with

A3

B.4 or6

C.5

D.8

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Z3xrmlyFncUw
https://dl.doubtnut.com/l/_s4wA8oMoHlzQ

18. Which of the following rational numbers have non-

terminating repeating decimal expansion?

) 144
225

5 25
" 36

Answer:

° Watch Video Solution

19.If p and q are primes, then H.C.F. (p, q) will be



https://dl.doubtnut.com/l/_oPIZG9Hq8g35
https://dl.doubtnut.com/l/_gNjDJCOq7R3S

B.q

C.1

D. pq

Answer:

o Watch Video Solution

20. If H.C.F. (306, 1314) = 18, then L.C.M. (306,1314) is

A. 22338

B. 22334

C. 306


https://dl.doubtnut.com/l/_gNjDJCOq7R3S
https://dl.doubtnut.com/l/_z23AjXtykHDI

D. 1314

Answer:

o Watch Video Solution

21. Any positive integer cannot be of the form (¢ € N)

A. 8g+1

B.-8qg+3

C.8q+6

D. 8g+5

Answer:

[ o Wilakl. \nNdaa Caliidkiam


https://dl.doubtnut.com/l/_z23AjXtykHDI
https://dl.doubtnut.com/l/_v4x9eFnoDF7y

L —  VYvdlilll VIUCV JVIuLiVII

22. Which of the following is not a prime factor of 38257

A3

B.5

C. 1N

D. 17

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_v4x9eFnoDF7y
https://dl.doubtnut.com/l/_YTHPwPeFjMp9

23.If p is prime, then H.CF. and L.C.M. of p and p+1 would

be

A.HCF.=p,LCM.=p +1

B. H.C.F. = p(p+1), LC.M. = 1

C.HCF.=1,LCM. = p(p+1

D. None of these

Answer:

o Watch Video Solution

125
24. After how many places, the decimal form of

terminate ?

24 53

will


https://dl.doubtnut.com/l/_rDiw4SkvVuSo
https://dl.doubtnut.com/l/_GKQOjBKlIj6M

A. Three places

B. Four places

C. Two places

D. None of these

Answer:

o Watch Video Solution

25.n° — 1is divisible by 8, if n is

A. an integer
B. a natural number

C.an odd integer


https://dl.doubtnut.com/l/_GKQOjBKlIj6M
https://dl.doubtnut.com/l/_Ya3cvc7zJ7HJ

D. an even integer

Answer:

° Watch Video Solution

26. 144 cartons of Coke Cans and 90 cartons of Pepsi
Cans are to be stacked in a Canteen. If each stack is of
the same height and is to contain cartons of the same
drink, what would be the greatest number of cartons

each stack would have?

A. 16

B.17

C.18


https://dl.doubtnut.com/l/_Ya3cvc7zJ7HJ
https://dl.doubtnut.com/l/_9iDPFtUtf0ov

D. 19

Answer:

0 Watch Video Solution

27. There is a circular path around a sports field. Priya
takes 21 minutes to drive one round of the field, while
Ravish takes 28 minutes for the same. Suppose they both
started at the same point and at the same time, and go
in the same direction. After how many minutes will they

meet again at the starting point ?

A.18

B. 12


https://dl.doubtnut.com/l/_9iDPFtUtf0ov
https://dl.doubtnut.com/l/_gZfrgRO51hzd

C.84

D. 36

Answer:

o Watch Video Solution

28. If d is the H.CFF. of 30, 72, find the value of x & y

satisfying d = 30z + T2y.

Az =T,y= — 32

B.x = — T7,y= — 32

Cax=32,y= —T77

D.x =32,y =77


https://dl.doubtnut.com/l/_gZfrgRO51hzd
https://dl.doubtnut.com/l/_EihEBh5y6yej

Answer:

° Watch Video Solution

29. Find the missing numbers x, y and z respectively in

the following factor tree."



https://dl.doubtnut.com/l/_EihEBh5y6yej
https://dl.doubtnut.com/l/_6ayIOlZjZqV4

A. 72,68, 34

B. 136, 64, 34

C. 136, 68, 34

D. 34, 68, 144

Answer:

o Watch Video Solution

30. Express 2.4178 in the form p//q.

12077

" 4995

8 11072
4999

12075

" 9999


https://dl.doubtnut.com/l/_6ayIOlZjZqV4
https://dl.doubtnut.com/l/_Gr3wLb00Ihtb

5 11075
" 9999

Answer:

o Watch Video Solution

31. The value of 1. 34 + 4. 12is

A 133
"~ 99
371
29
516
99
541
99

Answer:

[ o Wiakl. \nNdaa CaAliidkiam


https://dl.doubtnut.com/l/_Gr3wLb00Ihtb
https://dl.doubtnut.com/l/_r8UvKLvj0nDZ
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32. For what least value of n where n is a natural number

5" is divisible by 3?

Al

B.O

C.2

D. no value of n is possible.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_r8UvKLvj0nDZ
https://dl.doubtnut.com/l/_1EhjAikaNch1

33. Which of the following is a pair of co-primes ?

A. (14,35)

B. (18,25)

C.(31,93)

D. (32, 62)

Answer:

o Watch Video Solution

Exercise Multiple Choice Questions Level 2



https://dl.doubtnut.com/l/_zXKRtiQT46A1

1. The sum of three prime numbers is 100. If one of them

exceeds another by 36, then one of the numbers is 7 (b)

29 (c) 41(d) 67

A.73

B. 91

C. 67

D. 57

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_mR5pVGlZB3nE

2.Find the least number which when divided by 12, leaves

a remainder of 7; when divided by 15, leaves a remainder

of 10 and when divided by 16, leaves a remainder of 11. (a)

115 (b) 235 (c) 247 (d) 475

A. 115

B. 235

C. 247

D.475

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Q84aTNpYaKsV

3. Two numbers are in the ratio of 15 : 11. If their H.C.F. is

13, find the numbers.

A.195 and 143

B. 190 and 140

C.185 and 163

D. 185 and 143

Answer:

° Watch Video Solution

4. Which of the following is a rational number?


https://dl.doubtnut.com/l/_FX5oiwk5JIFK
https://dl.doubtnut.com/l/_atkKbk1ivqbG

A.Sum of 2 + /3 and its inverse
B. Square root of 18
C.Square root of 7 + 4,/3

D. None of these

Answer:

o Watch Video Solution

5. Which of the following is/are True?

A.Product of two irrational numbers is always

irrational number.


https://dl.doubtnut.com/l/_atkKbk1ivqbG
https://dl.doubtnut.com/l/_0FV5zx93MmYi

B.The sum of two irrational numbers is always
irrational number.

C.Sum of a rational and an irrational numbers is
always irrational number.

D. None of these

Answer:

O Watch Video Solution

6. Find the HCF of 98, 56 and 84

A 14

B.7


https://dl.doubtnut.com/l/_0FV5zx93MmYi
https://dl.doubtnut.com/l/_Qp4L7VwvIFQc

C.1

D. 98

Answer:

° Watch Video Solution

7.There are 156, 208 and 260 students in group A, B and
C respectively . Buses are to be hired to take them for a
field trip . Find the minimum number of buses to be
hired , if the same number of students should be
accommodated in each bus and separate bus for

separate group is needed.

A. 5414


https://dl.doubtnut.com/l/_Qp4L7VwvIFQc
https://dl.doubtnut.com/l/_6n2E6fdX8pYI

B.52,14

C. 54,16

D. 52,16

Answer:

° Watch Video Solution

8. 1. From a basket of mangoes when counted in twos
there was one extra, counted in threes there were two
extra, counted in fours there were three extra, counted
in fives there were four extra, counted in sixes there were
five extra. But counted in sevens there were no extra,

Atleast how many mangoes were there in the basket?


https://dl.doubtnut.com/l/_6n2E6fdX8pYI
https://dl.doubtnut.com/l/_g6pHjNdi42Zy

A 117

B.133

C. 119

D. 126

Answer:

° Watch Video Solution

9. Find the largest number that will divide 398, 436 and

542 leaving remainders 7,11 and 15 respectively.

A 17

B.19


https://dl.doubtnut.com/l/_g6pHjNdi42Zy
https://dl.doubtnut.com/l/_SBCgXnHb4Qzc

C.18

D. 16

Answer:

o Watch Video Solution

10. Find the greatest number of 6 digits exactly divisible

by 24,15 and 36.

A. 999998

B. 999999

C. 999720

D. 999724


https://dl.doubtnut.com/l/_SBCgXnHb4Qzc
https://dl.doubtnut.com/l/_L0EjUerYKde0

Answer:

© Wwatch video Solution

11. Let N be the greatest number that will divide 1305,

4665 and 6905 leaving the same remainder in each case .

Then, sum of the digits in N is

A3

B.4

C.5

D.7

Answer:



https://dl.doubtnut.com/l/_L0EjUerYKde0
https://dl.doubtnut.com/l/_N7kk9XTi1RZl

l & Watch Video Solution J

12. If 1027 — 2017 is expressed as integer, what is the
sum of its digits?

A. 18144

B.17468

C. 16466

D. 18564

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_N7kk9XTi1RZl
https://dl.doubtnut.com/l/_jLUOsr8d3FiW

13. In a seminar. the number of participants in Hindi,
English and  Mathematics are 60,84 and 108
respectively. Find the minimum number of rooms
required if, in each room the same number of
participants are to be seated and all of them being in
the same subject.

A.10

B.15

C. 20

D.8

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Lg2rZxtmCy4v

14. Find the largest possible positive integer that divides,

125,162 and 259 leaving remainder 5, 6 and 7 respectively.

A 14

B.18

C.12

D. 16

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Lg2rZxtmCy4v
https://dl.doubtnut.com/l/_zsAYksSR0wnd

15. 144 cartons of Coke Cans and 90 cartons of Pepsi

Cans are to be stacked in a Canteen. If each stack is of

the same height and is to contain cartons of the same

drink, what would be the greatest number of cartons

each stack would have?

A. 180

B.174

C.170

D. 154

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_t3PzlxbQa6IR

Exercise Multiple Choice Questions Match The Following

1. H.C.F. of two numbers is 10 and their LC.M is 210, then

the product of the two numbers is:

A. 2100

B. 510

C. 210

D. 4410000

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_R70T4PraRCmc

2.LC.M.of 6and 91 is:

A. 546

B.304

C.1

D. 564

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_SLGIN362NO5C

3. Match the List.

List-1 List-11

(M 13025 (11 lreatsonal

{1 a.':: 121 lernunabing decimal
X PAnson

(R 4.7 (3] Non-terminating
e peating decimal
e NS on

=) BlASS (41 Coeprime numbers

A.P-2,0-4,R-1,S-3

B. P-2, -1, R-4, S-3

C.P-1,0-2, R-3,5-4

D. P-1, Q-2,R-4,S-3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_JFb6K5ybzeaM

Exercise Assertion Reason Type

1. Assertion : We can say that 3 | 93 is true.
Reason: A non-zero integer a is said to divide an integer
b if there exists an integer c such that b = ac.
A. If both assertion and reason are true and reason is
the correct explanation of assertion.
B. If both assertion and reason are true but reason is
not the correct explanation of assertion.
C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer:



https://dl.doubtnut.com/l/_QcpEektmpTXb

\ O Watch Video Solution

2. Assertion : If LCM. = 182, product of integers is

26 x 91, then H.C.F. =13.

L.C.M. X Product of integers = H.C.F.

A. If both assertion and reason are true and reason is

the correct explanation of assertion.

B. If both assertion and reason are true but reason is

not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer:


https://dl.doubtnut.com/l/_QcpEektmpTXb
https://dl.doubtnut.com/l/_kNysQ72haBAo

° Watch Video Solution

3. Assertion : H.C.F. of (11,17) is 1.

Reason : If p and q are primes then H.C.F. (p, q) = 1.

A. If both assertion and reason are true and reason is

the correct explanation of assertion.

B. If both assertion and reason are true but reason is

not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer:



https://dl.doubtnut.com/l/_kNysQ72haBAo
https://dl.doubtnut.com/l/_y6Anh0alvPwZ
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4. Assertion : 29/9261 will have a non-terminating
repeating decimal expansion.

Reason : Let a = p/q be a rational number such that p
and q are co-prime and the prime factorisation of q is of
the form 2" x 5™ where n and m are non-negative
integers (whole numbers). Then a has a decimal

expansion, which is non-terminating repeating.

A. If both assertion and reason are true and reason is

the correct explanation of assertion.

B. If both assertion and reason are true but reason is

not the correct explanation of assertion.


https://dl.doubtnut.com/l/_y6Anh0alvPwZ
https://dl.doubtnut.com/l/_iRr1Hn1OxxmI

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer:

° Watch Video Solution

5. Assertion : 4/2 is an irrational number.
Reason : If p be a prime, then , /pis an irrational number.
A. If both assertion and reason are true and reason is
the correct explanation of assertion.
B. If both assertion and reason are true but reason is

not the correct explanation of assertion.


https://dl.doubtnut.com/l/_iRr1Hn1OxxmI
https://dl.doubtnut.com/l/_1M2eI0Gm2Nww

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer:

o Watch Video Solution

Exercise Comprehension Type Passage |

1. The largest or greatest among common divisors of two

or more integers is called the Greatest Common Divisor
(GCD) or Highest Common Factor (H.C.F.)
The largest number which divides 285 and 1249 leaving

remainders 9 and 7 respectively, is


https://dl.doubtnut.com/l/_1M2eI0Gm2Nww
https://dl.doubtnut.com/l/_9kgsKfP5qdnx

A. 46

B.6

C.12

D. 138

Answer:

° Watch Video Solution

2. The largest or greatest among common divisors of
two or more integers is called the Greatest Common
Divisor (GCD) or Highest Common Factor (H.C.F.)

Find H.C.F. (2002, 2618).


https://dl.doubtnut.com/l/_9kgsKfP5qdnx
https://dl.doubtnut.com/l/_Kfz5xzlMRpGp

A1

B. 22

C.154

D.13

Answer:

° Watch Video Solution

3. The largest or greatest among common divisors of
two or more integers is called the Greatest Common
Divisor (GCD) or Highest Common Factor (H.C.F.)

Two brands of chocolate are available in packs of 24 and

15 respectively. If |1 need to buy an equal number of


https://dl.doubtnut.com/l/_Kfz5xzlMRpGp
https://dl.doubtnut.com/l/_J7yY1QHZ20TY

chocolates of both kinds, then what is the least number

of boxes of each kind | would need to buy?

A .56

B.5,8

C.54

D.12,14

Answer:

° Watch Video Solution

Exercise Comprehension Type Passage | |


https://dl.doubtnut.com/l/_J7yY1QHZ20TY

1. Every composite number can be expressed as a
product of primes and this factorisation is unique except
the order in which prime factor occurs.
Express 945 as a product of prime factors.

A3 x5 x7

B.3% x 5% x 7

C.3¥xb5x7

D.21 x 32 x 5

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_gUmGa82WDeTm

2. Every composite number can be expressed as a
product of primes and this factorisation is unique except
the order in which prime factor occurs.
Determine prime factorisation of 20570.

A2 x5 x11* x 17

B.10 x 11° x 17

C.5 x 3* x 121

D.17 x 10% x 11

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_MbdOpOqm5ssU

3. Every composite number can be expressed as a
product of primes and this factorisation is unique except
the order in which prime factor occurs.
Determine prime factorisation of 205751.

A. 49 x 13 x 19

B.7% x 13 x 17 x 19

C.7Tx 13 x 17 x 91

D.7 x 133 x 17 x 19

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_5gMQB2NfLfhX

Exercise Comprehension Type Passage lii

1.H.CF. x L.C.M.=Product of two numbers.

The H.C.F. of two numbers is 16 and their product is 3072.

Find their L.C.M.

A. 182

B. 121

C. 192

D. 3647

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_5btHP4FmAjxU
https://dl.doubtnut.com/l/_G76xqvYTESaF

2.H.CF. x L.C.M.=Product of two numbers.

The LCM. and H.CF. of two numbers is 180 and 6

respectively. If one of the numbers is 30, find the other

number.

A. 435

B.36

C. 4290

D.6

Answer:

© Wwatch video Solution



https://dl.doubtnut.com/l/_G76xqvYTESaF

3.H.CF. x L.C.M.=Product of two numbers.

The sum of two numbers is 135 and their H.C.F. is 27. If

their L.C.M. is 162, the numbers are

A. 108,27

B. 72,54

C. 81,54

D. 99,36

Answer:

o Watch Video Solution

Exercise Subjective Problems Very Short Answer Type



https://dl.doubtnut.com/l/_YjIqBvLriXTH

1. Define L.C.M. (Least Common Multiple).

o Watch Video Solution

2. Fundamental Theorem of Arithmetic

o Watch Video Solution

3. If two numbers and their LC.M. is given, then how

would we find H.C.F. of the numbers?

o Watch Video Solution



https://dl.doubtnut.com/l/_OiFTWn5t8Uq3
https://dl.doubtnut.com/l/_FDRbcAELm8NK
https://dl.doubtnut.com/l/_tVh2w7UT3q0v

4, Find the H.C.F. of

B xFZx5xT, 2x3Px5xT1, 28x5 x7?

o Watch Video Solution

5. Find the H.C.F. of 108, 288 and 360.

° Watch Video Solution

6. Which of the following has terminating decimal

expansion (i) 13/25 (ii) 9/3125?

o Watch Video Solution



https://dl.doubtnut.com/l/_EPZ9NNkO9maN
https://dl.doubtnut.com/l/_eCtX9xWPtEV1
https://dl.doubtnut.com/l/_43PbptwfysFz
https://dl.doubtnut.com/l/_ZKeZbNf2HuXP

7.Find the HCF of 0.9, 0.36 and 1.80 .

° Watch Video Solution

8. The product of two numbers is 4107. If the H.C.F. of
these numbers is 37, then the greater number is (a) 101

(b) 107 (c) 111 (d) 185

o Watch Video Solution

9. Find the L.C.M. of 148 and 185.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZKeZbNf2HuXP
https://dl.doubtnut.com/l/_X4NiQx04dVOA
https://dl.doubtnut.com/l/_GG62wjYnnXww

10. If two positive integers 'm' and 'n' can be expressed as
m = ab® and n = a®b, a, b being prime numbers, then

find L.C.M. (m, n).

o Watch Video Solution

Exercise Subjective Problems Short Answer Type

1. The H.CFF. of two numbers is 23 and the other two

factors of their L.C.M. are 13 and 17. Find the larger of the

two numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_nbEDjQs65XOx
https://dl.doubtnut.com/l/_TJRkbl2eRZuP
https://dl.doubtnut.com/l/_ffC0ru7AwFDW

2. The sum of two numbers is 528 and their H.C.F. is 33.
The number of pairs of numbers satisfying the above

conditions is (a) 4 (b) 6 (c) 8 (d) 12

° Watch Video Solution

3. A, B and C start at the same time in the same
direction to run around a circular stadium. A completes a
round in 252 seconds, B in 308 seconds and C in 198
seconds, all starting at the same point. After what time
will they meet again at the starting point? (a) 26 minutes
18 seconds (b) 42 minutes 36 seconds (c) 45 minutes (d)

46 minutes 12 seconds

° Watch Video Solution



https://dl.doubtnut.com/l/_ffC0ru7AwFDW
https://dl.doubtnut.com/l/_SIuFMlZFOGBR

4. Which of the integers (99, 101, 176, 182) has most

number of divisors ?

o Watch Video Solution

5. Find the number of natural numbers divisible by 5

between 1 and 1000.

o Watch Video Solution

6. In a division sum, the divisor is 12 times the quotient
and 5 times the remainder. If the remainder is 48, then

the dividend is 2404 (b) 3648 (c) 4808 (d) 4848

-y |


https://dl.doubtnut.com/l/_FTadfkp42NgX
https://dl.doubtnut.com/l/_qPbkbSTws9GB
https://dl.doubtnut.com/l/_MtNk96uUiDyD

{ ™ Vvald vidco >0i1ution J

7. Find the divisors of 88, 91 and 100.

° Watch Video Solution

8. Find the number of divisors of 392.

o Watch Video Solution

9.There is a remainder of 4 when a number is divided by
7. What will be the remainder if the square of the same

number is divided by 7?

o Watch Video Solution



https://dl.doubtnut.com/l/_MtNk96uUiDyD
https://dl.doubtnut.com/l/_3UllXcbf0RSI
https://dl.doubtnut.com/l/_ZQG2BETVURFr
https://dl.doubtnut.com/l/_ttOgDw0guMmC

10. Find the least number which when divided by 6, 7, 8,9

and 12 leaves the same remainder 1 in each case.

o Watch Video Solution

Exercise Subjective Problems Long Answer Type

1. Let n=640640640643, without actually computing n”"2.

prove that n*2 leave a remainder 1 when divided by 8

o Watch Video Solution



https://dl.doubtnut.com/l/_ttOgDw0guMmC
https://dl.doubtnut.com/l/_uEZeoouWwvIJ
https://dl.doubtnut.com/l/_LZTkYcSLNtG5

2. Find the largest number of four digits exactly divisible

by 12,15, 18 and 27.

o Watch Video Solution

3. If P is a prime, n is a positive integer and

n + p = 2000, LCM of n and pis 21879 then

o Watch Video Solution

4. Find the smallest positive integer k such that (2000)

(2001) k is a perfect cube.

o Watch Video Solution



https://dl.doubtnut.com/l/_O9tJjXNmab3j
https://dl.doubtnut.com/l/_GzHVqiCw63bB
https://dl.doubtnut.com/l/_B9t4ZR2KJBFv

5. Let a, b, ¢, k be rational numbers such that k is not
perfect cube if a+ bk + cks =0 prove that

a=b=c=0

o Watch Video Solution

Exercise Subjective Problems Integer Numerical Value Type

1. The least number that must be added to 3105 to get a

number exactly divisible by 21.

o Watch Video Solution



https://dl.doubtnut.com/l/_1U6bHRWQftns
https://dl.doubtnut.com/l/_DbIoqiWlxWCs

2. Unit digit in (264)™% + (264)'% is:

o Watch Video Solution

3. The greatest number that will divide 103, 127 and 175,

so as to leave remainder 55 in each case is

° Watch Video Solution

4. Find the minimum number by which 891/3500 must be

multiplied to make it a terminating decimal.

o Watch Video Solution



https://dl.doubtnut.com/l/_KRpeuMBbPkd7
https://dl.doubtnut.com/l/_wE3WYy37EfEC
https://dl.doubtnut.com/l/_ghTwxFJCbsjv
https://dl.doubtnut.com/l/_qrk25Te35bDS

5. On dividing 12401 by a certain number, we get 76 as

quotient, 13 as remainder and k as divisor. Find k.

o Watch Video Solution

6. The unit place digit of HCF  of
2 x P xT7,28xPx52xTand3x5x7x11

is

o Watch Video Solution

7. Three numbers are in the ratio 1:2:3 and their H.CF. is

12. Then the positive square root of largest number is

° Watch Video Solution



https://dl.doubtnut.com/l/_qrk25Te35bDS
https://dl.doubtnut.com/l/_8LpdTLo0R2YS
https://dl.doubtnut.com/l/_JgCjjV9PZNaH

8. Find numerator in the fractional representation of

0. 81 in lowest term.

° Watch Video Solution

9. A rectangular courtyard 3.78 metres long and 5.25
metres wide is to be paved exactly with square tiles, all
of the same size. Then the largest size of the tile which

could be used for the purpose is n cm. Find n.

° Watch Video Solution



https://dl.doubtnut.com/l/_JgCjjV9PZNaH
https://dl.doubtnut.com/l/_qcuOunw8vjNX
https://dl.doubtnut.com/l/_EpINy50CSPln

10. The greatest number which can divide 1356, 1868 and
2764 leaving the same remainder 12 in each case, is

square of _

o Watch Video Solution

Olympiad Hots Corner

1. Which of the following have non-terminating repeating

decimal?

A.2/25

B.2/7

231

C.
22 x5 x 7



https://dl.doubtnut.com/l/_2VoRv7eezhYk
https://dl.doubtnut.com/l/_0ZOE6k4f3Y5Y

1323
63 x (35)

Answer:

o Watch Video Solution

5 a+ va? — b2 N a — Va2 — b2
a — vVa? — b2 a+ Va2 — b2
a2
A —
b2
b2
B. —
a2
a
C. —
b
2(2a% — b?
5 ( )
b2
Answer:



https://dl.doubtnut.com/l/_0ZOE6k4f3Y5Y
https://dl.doubtnut.com/l/_YfU75Aw063sQ

[ W Watch Video Solution ]

3. Find the smallest positive number from the numbers

below.
A.10 — 3,/11
B.3y/I1I1 — 10
C.51 — 10,/26
D.18 — 5,/13
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_YfU75Aw063sQ
https://dl.doubtnut.com/l/_AHmTP0UtwPbA

4, The number 0.211211121111211111..... is a

A. Terminating decimal

B. Non-terminating repeating decimal

C. Non-terminating and non-repeating decimal

D. None of these

Answer:

o Watch Video Solution

5.Express 0. 13 + 2. 31 as a rational number

o Watch Video Solution



https://dl.doubtnut.com/l/_2xKPhCGR65nG
https://dl.doubtnut.com/l/_L3wFfm8FaKUN

6. If a number is divided by 6, the remainder is 3 then

what will be the remainder when the square of the same

number is divided by 6 again?

A.O

B.1

C. 12

D.3

Answer:

° Watch Video Solution

7. Which of the following statements is incorrect?


https://dl.doubtnut.com/l/_lDuaIht2Wg3p
https://dl.doubtnut.com/l/_FPQraEqqbSRX

_ 53
A. The rational form of 17. 6 is 3
B.0.423442344423...is a rational number.

_ 19
C.The fractional form of 16 + 2. 9 is B

D. /25 + /64 is a rational number.

Answer:

o Watch Video Solution

2
8.1fa + by/5 =

,then,a —b =7
3+ 45

A4


https://dl.doubtnut.com/l/_FPQraEqqbSRX
https://dl.doubtnut.com/l/_XWsTncOHlfFI

Answer:

° Watch Video Solution

9. What value will be obtained on simplifying

1 1 1 1 _
VB Viivs  Vieve  vmevi VY

A3+ /5

B.3 — /5

C.3

D. /5

Answer:


https://dl.doubtnut.com/l/_XWsTncOHlfFI
https://dl.doubtnut.com/l/_HhZ3av6nFp3t

o Watch Video Solution

10. The decimal representation of ———— will
915 o 510

terminate after how many places of decimals?

A 15

B.10

C.5

D. None of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_HhZ3av6nFp3t
https://dl.doubtnut.com/l/_7tQ1EtLzo3mQ

11.v40

A.16, 24,5, 80

B. 8, 22,38, 57

C.7,19,46,53

D. 12, 28, 40, 45

Answer:

o Watch Video Solution

2 x 3P xT7 ,
12. A real number . will have _
22 x 5° x 3" x 7

A. Terminating decimal expansion



https://dl.doubtnut.com/l/_096MriyLGKHu
https://dl.doubtnut.com/l/_XOvgJa9Ri4lj

B. Non-terminating decimal expansion

C. Repeating decimal expansion

D. Both (b) and (c)

Answer:

° Watch Video Solution

(a+3) @ (e 1)
13. Show that: — —
(b+2) = (o-1)

L)



https://dl.doubtnut.com/l/_XOvgJa9Ri4lj
https://dl.doubtnut.com/l/_cKHynRfi5ar2

Answer:

° Watch Video Solution

14. Which of the following is incorrect?

A.If x is a rational number in its lowest form such
that the prime factorisation of denominator is not
in the form 2"5" (where m and n are non-negative
integers), then it has a decimal expansion which is
non terminating and repeating.

B.5 + /2 is an irrational number.


https://dl.doubtnut.com/l/_cKHynRfi5ar2
https://dl.doubtnut.com/l/_Ls6uj99p71AB

C. Every composite number can be expressed as a

product of primes.

D. None of these

Answer:

° Watch Video Solution

15. The lowest common multiple of two numbers is 14
times their highest common factor. The sum of LC.M.
and H.C.F. is 600. If one number is 80, then other number

is

A. 600


https://dl.doubtnut.com/l/_Ls6uj99p71AB
https://dl.doubtnut.com/l/_Yosl6BKwZlVq

B. 520

C. 280

D. 40

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Yosl6BKwZlVq

